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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 39,869 86,505 41,292 45213
RIRET1T 6 15 9 6
RIRET2T 28 56 27 29
AIEET3T 181 593 289 304
RIRET4T 409 989 495 494
B 624 1,653 820 833
REH 2,692 6,071 2,829 3,242
L&A 4,351 9,517 4,441 5,076
5E 2,622 5,967 2,894 3,073
B AN 1,282 2,822 1,338 1,484
BERT 1,383 1,996 954 1,042
BER2T 789 1418 687 731
BERST 477 1,068 500 568
B 2,649 4,482 2,141 2,341
BEXRE 276 657 324 333
= 2,217 5,066 2,405 2,661
hERE 640 1,433 660 773
e 2,483 5,170 2,510 2,660
25 L ET 2,322 5,088 2434 2,654
B &AL BT 78 159 65 94
HEFILET1T 569 1,209 568 641
HEFILET2T 618 1,302 611 691
HEZFILAT3T 636 1,447 716 731
g 1,901 4117 1,960 2,157
B & it B Fr ET 682 1,581 766 815
BHEREBET1T 586 1,197 578 619
BHERERET2T 769 1,730 827 903
BHERERETST 771 1,598 725 873
BHERERET4T 513 966 455 511
HEKERETST 848 1,732 827 905
HEERET6T 896 1,949 943 1,006
BHERERET7T 874 1,821 897 924
HERERETST 69 208 102 106
£t| 5326 11,201 5,354 5,847
HEF R FET 1,971 4,108 2,001 2,107
S|EFET1T 607 1,561 784 777
S|EFET2T 772 1,757 833 924
S|EFET3 T 754 1,425 647 778
g 2,133 4,743 2,264 2,479
ERE1T 589 1,364 659 705
EIRET2T 391 1,040 527 513
EREIST 511 1,338 653 685
EIRETAT 694 1,487 662 825
EIZEIST 540 1,097 563 534
g 2,725 6,326 3,064 3,262
ME A 2,864 6,299 2,999 3,300
J\THET1T 33 35 12 23
J\THET2T 25 58 28 30
J\THEI3T 51 111 48 63
B 109 204 88 116
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